HX B O R OH$ (k2457 A 1 B B7E)

FEER RS HIX FRRRRLS X
Hh[X 4 QLR aa el Hi[X 4 JLRE 4 a Elckal
% o | s | | & | #REK 7 | ke || B | & [#EK

1 =57 807| 913 920 1,833 4 1 4 40 A H 258 344  344| 688

2| (R 973| 1,143| 1,201 2,344 44 IR 3 3 4 7

4 e 513  535| 544 1,079 45 JH/ | 110 94 82 176

5 Jbs e <F 354 484 458  942| 43| 43 43 48 Yroo& 409  446| 507| 953

6 UNE! 258 419 380 799 49 HOFA 302 332|360 692

8| Al (fF) 351 393  422| 815 50 LD H 372  393| 461| 854

10 P 208|  208| 215| 423 52 [iE)7238 430|495  517| 1,012

11 A H 53]  N\ENRE 456 449 539 988

14 _E 6 12 7 19 55 oo B 363  399| 445 844

15| BAEHISE 1,249 1,533 1,639| 3,172 56 R 257 267 321 588

16 FERISE 1,009 1,417| 1,470| 2,887 57 B i 171 198 209 407

17 W2 380 389 450 839 58 — 188 179| 215 394

18 &7 i 324 419  425| 844 59 N 204 232|248 480

19 SR A 23 26 21 47 60| TG A 17T B 217 230 237 467

20 A B 1,193| 1,415| 1,366| 2,781| 114| 114 114 61| mE1TH 113 121 138] 259

22 FikF 835 993| 1,088 2,081 62| wmHE2TH 155 184 220 404

23 B 282 341 348 689 63| mHE3TH 201 209 239| 448

24 HHN 904| 1,032| 1,128 2,160 64| mE4TH 72 92 86 178

25 VALl 65 /INRHHT 417 491 505 996

27 oKW IA 266 276 347 623 66| HrnH 194 231 233 464

29|  FHEHAE 19 19 19 67 = 110 129 149 278

31 Bl 80 101 101 202 68| N 2T H 218  252|  268| 520

33 KL 328 379|411 790 69 SR 147 176] 207 383

38 FoYAN 157 195 173|368

9| AN E 144 200 206| 406 7t 16,030 18,788| 19,854/ 38,642| 161| 158 161




HX BN O R O (SERK244E7 A 1 H BL7E)

FEFRoR X FJEZR R
AR OB T AR OB WY
H1 X A4 QLIRS Hi1 X 44 QLR 28

% LG 0 = S B N “ O %~ % | S| | & [ RE
311 BHB1ITH 486 478|492  970| 20[ 20 20( |391| #MT1TH 459 493 479 972
312| %2 TH 187| 229 228 457 392| 2T H 111 113 111 224
321 ME1ITH 397|381 396|777 393 W31 H
329| fE2TH 661 676 697| 1,373 411 KRE1TH 376 395 431 826
323| ME3TH 445 503 487 990 412| KM2TH 361 420 466| 886
331 BAH1TH 569|  540| 514 1,054| 32 32 32| | 413 AMSTH 269 275 273|548
332 BAHZ2TH 400 419| 452 871 414 A4 TH 409 413|420 833
333| BAM3TH 413  390| 406 796 431 WE/HTTT H 401  456| 494 950
334| BAH4TH 620 651 780| 1,431 439| WE/HT2T H 859  974| 1,079 2,053
341 R#1TH 763 759  754| 1,513| 69| 69 69| | 440 kS 654  749| 777 1,526
342| RMH2T H 288 344 349 693 3 2 1 3| | 451 EFWS1ITH 450 498 557| 1,055
343 R#3TH 389 455 467 922 452| EFIR2TH 259 253|309 562
344| R4 TH 279 288 349 637 461 —XCE1TH 820| 1,039 1,059 2,098
345 RK#5TH 401  401| 488 889 462| —3XH&E2 T H 648  741|  754| 1,495
351 KM1TH 914 875 951| 1,826 4711 AHITH 46 56 68| 124
350 EM2TH 958|  864| 985 1,849 472 AH2TH 2201  282| 280 562
353 KM3TH 702|  726| 785 1,511 8| 5| 3] 8| |473] AH3TH 174 221 228 449
361 RAE1T H 285 280 235 515 84| 71| 13| 84| |[474| S H4TH 314 442 476 918
362| HAHEZ2TH 397|  449|  467| 916 475 AH5TH 273|332 353| 685
370 o5 7 < 585  642| 620 1,262| 21| 21 21
381] AH1TH 196 285 244 529
382| AH2TH 718| 1,053 1,012 2,065 = 18,463| 20,210( 21,114 41,324| 237| 220| 17| 237
383 AH3TH 307| 370 342 712 N 34,493| 38,998| 40,968| 79,966 398| 378 20| 398




